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Chapter 2
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e, LTl
Bl S SR FHATHNZS), H=T+V,V = —e2/r. it Zeceman/5,
V=—e*/r—u-B.
HTHEFARERTREGT, S5RFEM TN T, XEATH.
IR EHA B HAE TR RSE), XA T, HInToiEE R T
BB IEIHLB .

2.1 WHR TR FISchrédinger /i1
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(2.7)

RISt (2.4) =K.

H1(2.6): ur = P — 14, BIPRZEpr. P = pr+ 24, ERENE, Tizh
By = RAIFAHLE &

R Eh &SR A S8, FATE

s_p 4y_ OH g )
Hr c or ¢ (2:8)
B E
_ lp_ap 194 09 q,
pe = M(P c ) c Ox or CAI
gL 0A 0 q 0A, .
= T e L VA
B ¢ 104,  q,.-. 0A
= q(%‘i‘g o1 )+E(T % r VAT)
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194
i :-q(v¢+f—)+9*x(vXA) (2.9)
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zham) = H|a) (2.10)
xR A
(:r|zﬁ |a> (x|H|ca) (2.11)

Bp(x) = (x|a) F KL - ?ﬂmﬁf/ﬂ%, B R (2.5) FF PR —ihv, mt
EIYGE]

8@[) 1 . q o
a [—M(—zhv — EA) + gl (2.12)
IR L B2 32 R s FURL - ) Schrodinger equation.
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Bp
[P,A|=P-A (2.13)
—REIL TN 5.
BRAEMIHFZEY - A =0, BERHTET, [P, A] = 0. BE
B CR SR LR V-3 N OF - NI GCRIK 13- 0t
(P— AP =P?+ A2 = Z(P- A+ A-P) = P*+ 5A°— (2P - 4)
o INFUMAR R B JL 26 R
AR AT LA S 5
a—f+v-5‘:0 (2.14)
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i = iw*(P — GAJOY + (P — gA)e) )

b, q

— SV — Ve = LAy (2.15)
TG A AR, AR

¥ = /pe'S/h (2.16)

(VS) (2.17)

(VS — 5 (2.18)



